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Classwork Period 7

Secants, chords and tangents are shown. For questions 1 - 6, refer to the figure below and find
the indicated value.
QJ1. 1fCE=3,DE=6,and AE=2, find BE. 3(y) = 2B BE 29

@. IfAE=3,BE=5,and DE=2, find CE. 3(®)=3ce CE=
3. If AE =3, BE =6 %, and CE = 4, find DE. 3(l%) = U DE DE=
J)

24 B AE=12,BE=18,and DE =9, find CE. | Q4

W. IfAE=34,BE=52,and CE=2, ﬁndDE.‘ . Y i
@. If AE = 2x, BE = 4x, CE = 8, and DE = 16, find x. z)&z’ ‘zg

x2o i, =4

For questions 7 - 11, refer to the figure below and find the indicated value.
@7. IfBC=3and BD =12, find ABpn% 3.|).

N?Jz—‘: BD- Bc

@s. If AB =6 and BD = 12, find BC. 3o = 12(g)
(8]

L{ ‘. - H - q :
(\5,51. If AB = 10 and BC =S5, find CD. |0z 5D (aD:)S) /8
Bp=do \=—/——

For questions 12 - 21, refer to the figure below and find the indicated value.
12. If AC=12,BC =4 and CE = 8, find CDT&
Yz= ¥x
, 13. IfCE=9,CD=4,and BC=3, find AB. | 9
Y.q= 3AC Ac=12
14, If DE =3, DC =9 and BC = 6, find AB. E

W)

(%) 15. IfAB = 167' B -3, A%d fnt 6%1;1' i

16. IfDEéLs?gB =:7<o an%iC =21, find BC.

[S) 7. IfCE 15;2\%5} 10%32?1%1&% A]‘B& E] T i :
8. IfCD = 8, DE = 10, and AB = 10, Eeil "O*\)’OO'L’(D('W)

s
LR = %k@Bho) gy = x2rox X210 x— 1YY
19. IfBCS——-d z-gB =7, c)?( xfnsdgE et x+—n¢)0<~ EE (0% 2¢
L V= X X = -
50 (Yo 20. IfBC=12,AB=13,CD=x,andDE=2x,fmdm — Bor ™1
(9] 2(29) = ¥ (X420
% (3%)

00 = 22
o — é);— \(: lO
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For questions 1 - 6, refer to the figure below and find the indicated value.
‘ S } 1. If AB =25,BC =3, and BE = 15, find BD. 25 (3) = \S(»DD

U@ )2 IfAB=4,BC=9,and BD =6, find BE. %(4) = G (B D

A
\U\3. IFAC =16, AB=4, and BE=8, find DE. 4((3) = RD8 d%

\q }4. fDE=17,BD=7,and AB=5, find AC. \0 (D =5 (BB%}M

\jSs. IfAB=3,BC=5 % and BE = 8, find BD. 3(;5%,)__ +8p E
q ] 6. If BE = 16, BD = 4, and B is the midpoint of AC, find AB.  |(, (&) = X (%)
= x>

In the accompanying diagram, * is tangent to circle O at D and * is a secant.
( 27 7. IfAD =9 and AB =3, find AC. Q= 3.AC

@8. IfBC=15and AB=1, find AD. pD% \+\(, A
9. IfAD =8 and AB=4,find AC. ¥ = Y4-4¢
{ (ﬂ]m. IfAB=4and BC=5,find AD. pt?*= 4-9

11. IFAD =35 and AB =3, find BC. (3\[E) = 3(3 +BC)

Yys = 9 +38¢C

In the accompanying diagram, two secants are drawn from the same point.
[ (¥]12. £AB=5,AC=8,and AD=2, find DE. 5% =1(3+¥DE) Y0=UrIDE
2 \13. IfAB=3,BC=7and AE = 15, find AD. 3(\0) = PcD(LF'D) . B

(12)14. 1£4B=6,BC=12, and AD =4, find DE. ((1%) = 4(U+PE "

D

f] 15. If AC =20, AD =8,and DE =2, find AB. AB(20) = F(10)
(V)16 fAB=5,AD=8and DE=2,findBC. 5 (54 B() = B (10)

(740 17. 1B is the midpoint of AC’,and AD =8, and DE = 17, find AC. pt{ ) = 3 (29)
= A0

(A;W¢ (OO




